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Question 2a (continued)

G

His solution is below:
jj x(x+ 1) Ged)dx = [ (x7 - 3% — 4x)dx

= LHX3_2){2
4 -t

= -20.25

His solution is incorrect.

@

(i)

(iii)
)

(i)

(iii)

Instead of being asked to find the area bounded by the graph,
how could this question have been reworded to make his

solution correct?

If the student’s answer had been correct, what does the negative
value in his answer mean?

Using integration, find the correct area.

Explain the difference between experimental and theoretical
probability.

The following is a tree diagram for the possible outcomes of the
number of boys and girls in a family of two children.

Complete this diagram for a third child on the answer sheet
provided on page 3 . Hence, show all the possible outcomes.

First Child Second Child
5]

6

Hence, find the probability of at least two girls.
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